3.3 Graph Using Intercepts (work).notebook November 01, 2023

GRAPHING LINES USING INTERCEPTS

x-intercept- the x-coordinate of a point where
a graph crosses the x-axis

 To find the x-intercept, substitute 0 fory
and solve fory.

y-intercept- the y-coordinate of a point where
a graph crosses the y-axis

« To find the y-intercept, substitute 0 for x
and solve for x.

EXAMPLES
|dentify the x- and y-intercepts of each graph below.
y y
1. 2. |
X X
X-int = =4 X~-1nt = v,

y-ink =2 y-int =5
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Find the x-intércept of each equation .

3. 5x + 2y = 20 4, 2x -3y =6
SX+20y= 20 2X=¥0)= 6
5X =20 X=f
5 5 7 2
X-int=4 X-Int=3

Find the y-intercept of each equation.

5. 5x + 2y = 20 6. 2x-3y =6
SEJ +2y =20 UTJ-24= 6
2y =10 BN=06

7 2 -3 =3

Y-t =10 \V-Int =-2
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Find the x- and y-intercepts of the equations below.

7. 3x -4y =12 8. -5x+4y=2
_f__ y-int Koint - y=int
W) =) Y SN=12 '5";% =2~y =2
—5x=2 Yy=2
a-l el S5 ¥
2 - -
> -t =% X-int= ‘é ink=
X-Ie= | ! or or
‘an O 5
MAKING A QUICK GRAPH
STEP 1. Find the intercepts.
STEP 2: Draw a coordinate plane that includes intercepts.
STEP 3: Plot the intercepts and draw a line through them.
9. Graph the equation of 3x + 2y = 12 using intercepts.
t Y
X-int N-int A;
3x+;60’) 2 )+ =n \
3x=12 YL T
> 2 nt= | g
X-Int=y y-im :
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10. Graph the equation of 4x - 5y = 20 using intercepts.

Xeinte yoimt 7
x-S =20 $&\—5y=20
by =10 —5(=40 E
T T T8 -8
(-ne=5  \int=-Y) X
1

11. You make and &l}jecorative bows. Small bows are sold for
$3 and large bows are sold for $5. You want to earn $60 per
week. This situation can be modeled by the equation
3x + 5y = 60, where x is the number of small bows and
y is the number of large bows.

a) Find the intercepts of the graph.
b) Graph the equation.
c) Give three possibilities for the number of each
type of bow you can sell to earn $60.
x-int N-int
Wrgh=60 A +5y=60

3x =60 2 < 9

> p &
Ywmt=20 Y= L
(g)ch-é 5 SM“ bWS,Q ’W. th N u _l)
Clo, &\ =10 small bows, (b | arge bows Sum ‘
@151%) =15 smat baws, 3 Jarge bows P
o
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